STUDY247. 1 N

leoose the most appropriate articles to fill in the blanks, where applicable:

Itis — pleasure to do business with such _____efficient organization.
(A) x,x,an . (B) x,the,an

(C) a,the,a " (D) ax,an

(E)  Question not attempted

Choose the most appropriate option to fill in the blank:

student in the class passed the examination conducted in the month of April-
(A) None (B) All

(C) Every . (D) Very

(E)  Question not attempted ‘

Which of the following does not feature in writing a Notice? Choose the correct option.
(A) Agenda of the meeting (B) Signature

(C) Time, date and place (D) Minutes of the meeting
(E) Question not attempted

Which of the given options will complete the given series?

e fw o foraredt & & @ o s b1 qu e

gfe g igf eii c;fei i_ gfeii
(A) dfgie B) eifgi
(C) figie ' (D) ifige

(E) Question not attempted / 3TTRdT TH
Select a figure from amongst the options which will continue the series established by the four problem

figures.
fow 7T fyehedl # & T ATHIT T T L S TR THEIT TR FRT T1Ha Syoft Y STy @it

Problem figures / GHEIT 3THfAT:

NI ==
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i ii iii iv

7 o |7

(A) Z
]
& | Ao ) H\T

®) Question not attempted / SR v
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—6. A manis facing North - West. He turns 90° in the clockwise direction and then 135° in the anticlockwise
direction.Which direction is he facing now? o 3
(A) West (B) East 5 Y 9
(C) South < (D) North =t X
(E)  Question not atteffipted Ve
U =AY 3 e S e v g1 21 afirmard Rt aren i o0 iR by e (A
RARIEULREUE SU I I ——— o
A ufim i | C® © o
(C) o - D) W r“_}
® EEtawg '
32 students are sitting in a row facing towards North. If Nehal is 14" from the left end then what is her
Position from right end ' <!
32 el ot of i g s 3 8 81 et v v 143 o e G e R R
ity “ &
@ 2 = ® 1 Y 18
© 18 :‘3 ~D) 19 Bﬁro
(E)  Question not attempted / @I’gﬁﬁ?f 9 I
8 Oils on treatment with hydrogen in the presence of nickel catalyst form fats. Thisisan example of
(A) Oxidation reaction (B) Addition reaction
(C) Substitution reac:%n (D) Displacement reaction g
(E) Question not attexpted (o )
ﬁ%ﬁrmaﬁw&uﬁgﬁamm@m%mmmmmm%w E;{Frqasaaméu
(A) AT arfufegay B) Ik AfufRaT el
(€] HRsar SR (D) e s 0
(B) Saiaws . :
™~ Which of the following statement is/are true? )C@W éﬁQ
a. Metal ox@?} are acidic in nature. e =
b. Non-metaig; oxides are basic in nature g
Select the most appropridte answer from given options: N
¥ =
(A) Neither anorb il (B) Onlya e
(C) Bothaandb ) (D) Onlyb 2
(E) Question not atte';:‘pted
oy 3 @ i VA o ey -
a O ¥ Siae, o i ot 8 >
b. TG itwwTEs, Wl # i €A & .
A R e el 3 & frfferes s o T <
(A) TaIRTED (B) Facta :3
© 3asid 1D o g =
®) Faa F ;
RI5] @) [PTq
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19, A greenish coating that develops on copp

(A) Copper nitrate o, (B
(D) Copper sulphate

(C) Copper carbonate
(E) Question not attempted

er utensils on being exposed to moist

air is due to the formation of

Copper oxide

T 35 et 1T - ATy A g T W S FH IR FAR 2t e e & ST &

(A) FRAEE (B) FHIW S
(C) WRFEME (D) HRATHE
(B) raRawH

N Poffed Ren s g
(a) fafer-fmg (B) T -FH
(C) TR~ @) - st
(B) guRd A

~12 ‘sﬁuﬁﬁwma’mm%m@m%
a) fadmt @) freer
(C) @ (D) WrIEh
() iy

13 Srffiaa 3 G O % S Tel A
(A) ITEE @®)
() uiE= (D) T
(B) gaia v

under ‘Mukhyamantri

~34 In Rajasthan, what is the amount payable
Yuva Sambal Yojna’ ?
TR T ¥ et ZaT §
Choose the most appropriate option from below:

o & wa Iag fased T
~A) 74,500 ®)
(C) ¥ 3,500 D

(E) Question not atternpted / TR T
15  Which of the following projects O

every month to unemployed educated girls

M’%maﬁaﬂﬁﬁmaﬁmﬁaﬁnﬁﬂﬁﬁmﬁuﬁﬁw@

T 3,000
T 4,000

f Rajasthan provides hydroelectric power?

* (A) Uchha Dam (B) Mahi Bajaj Sagar Dam

(C) Jawai Dam (D) Swaroop Sagar Dam
(E) Question not attempted
TTET 33 T i RIS ST T & et 87
(A) STy (B) W& SIS §FR &Y
(C) SERHY (D) T&®YATR Y
(B) uia

16 Digilocker is a flagship initiative of which Ministry?
(A) Ministry of Commerce and Industry (B) Ministry of Educat;
©) Mlnlsl.:ry of Finance (D) Ministry of Elects lo.n
(E) Question not attempted onics and IT
fefireita g HaTerg 1 Tq@ TE Y

R15] @ 4
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17 Where is Rajasthan Atomic Power Station located?.
e Choose the most appropriate option from below:

(A) Rawatbhata (B) Suratgarh
(C) Baran (D) Jodhpur
(E)  Question not attempted

TSTEAT TOATO] F51t 29 el e 82

P 3 & wad suge fower |

(A) TR B) @

©) =mi D) SEE
(B) gaRaws ‘

A loss of 25% occurs on selling an article for Z 1,800. What would be the profit percent if the same article 18
sold at ¥ 3,2007?

\‘iﬁmaﬁf? 1,800 ¥ = 0 25%aﬁmﬁﬁ?ﬁ%mﬁ3aamaﬁz 3,200 & ST SITAT & A ST ohT SR T €Y

&) 331% ®) 25% rdny? "“7
©) 35% D) 30% - 7578 g4
(E)  Question not attempted / 3TTaRa w1 g e /L%%J' Q
19  The diameter of a garden roller is 2.8m and its length is 4m. If it takes 5 revolutions in 30 secondsﬁ;hen ho%v S
much area will it cover in 5 minutes?
(A) 1540 m? / (B) 1760 m?
(C) 1440 m? (D) 1860 m?
(E) Question not attempted
e TR TR T A1 2.8 e it ars 4 iz ) 3 7 30 dve & 5 TfEhT R F@T R, A 5 fFe ¥ 9= Reaar
ST 9 HUTT?
(A) 1540 iz @ (B) 1760 Hiex?
(C) 1440 e : D) 1860 Hrex?
(B) Igaiayq
20 %+%+76!—+ ...... 1s equal to -
% + §4,- + —7§,- Ferro. F IR -
A) é? . B) e
(C) 2e D) %

(E) Question not attempted / 3TTRA I

21  The perimeter of an isosceles triangle is 32 cm and length of each of the equal sides jg 3

6 times of the |
of base. What is the half of the area (in cm?) of the triangle? ength,
@gqﬁalgﬁﬁﬁqﬂmqnﬁ%aﬁmmmﬁmWﬁm@m T’"%l
ST T ATHT (FH2 ) Ry 29 " b Py 3
A) 24 B) 38 b
(C) 42 (D) 48

(E) Question not attempted / i S

R15) @ : S

[PTq
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Ajay i ) . . .
.J y nvested a total amount of Z 10,000 in two types of investments. The first part of investment yields 5
Sim i . 5 .
dple Interest 6% per annum and the second part of investment on 10% per annum. If the total interest at the
en . . . . . ;
of one year is 7% per annum at simple interest, then the amount invested in each investment 1s:

mﬁ%mﬁ&:ﬁﬁsﬁﬁ%? 10,000$rﬁ%wf%smmﬁagﬁéwmm§n6%wﬁaéaﬁatﬁmwm
Waﬂtﬁ'&w%ﬂnm 10% wifcrard st & & ATETOT SATST 01 3T §, aﬂtqmaf%aiaﬁaﬂ;mm 7% HTaRY

TS T ITH | 2, 9 e P f fdwr s afir - ™N
(A) T6250%¢ 3750 m Z 7500; T 25007
© x 700({-3 3000 D) T7300;% 27060
- (B)  Questiggnot attempted / AR i

Which two signs should be interchanged in the following equation to make it correct?
20+5+20%8-20=38

(A) —and g ®) +and x g
©) -andgy @) +andx (O
(E)  Questipy not attempted N

mm@mm%mwmaaﬁ%ﬁmmﬁm@
20+S+20><8—gq=38

L
SA) -3ty | W) +aRx 2pusHios -2 430
s -5x . » xYy+8 o~ %
S 3ﬂt+§lb?‘z—.wzoe¥*gzobgi ® - ot x ’1—°8 g et
(E) 3|\-,|E||til I o -2 +20- 30 q'.gg,Lr < Lo
Which of thefgllowing View shows margins and the rulers? o
(A) NormdKView _ (B) Review g
(C) Page @Jp (D) Page Layout «j

(E) Questigd not attempted g
ﬁﬂ%ﬁﬁﬂﬁ@?ﬂiﬂ@maﬂtmmulem)ﬁm@ -

(A) Smer (Normal) 34 (B) T=T (Review) ‘
(C) UST¥2T (Page Setup) (D) U AL (Page Layout)
) ol s o

Which amoggthe following keys is used for checking grammar and spelmg in M.S. Word?
o T TS i GuraRT 3 At S stier 3 ferg Prffiaa F & forer gl @ SRRt o s 22

(’!
A) F7T 4 B) F9 PP 1 -
© F3 1 ®) FS S-20%8L20 -3¢

Bl - wih
(E) Quesﬁa] not attempted / TR F& S ‘ZSY;E_

. ‘26 -
Which of the following is an output device? C sDY

<y

(A) Joysti (B) Mouse i

© Keyb§d © spoaer |0 TS Y2078 20
(E) Quesfidh not attempted %‘# SN >0 D
Frrfirfiaa 3 8w emaege feamew & - - ¥
~(A) STafem «(B) WH e ® 2,

«€) e @) wfe T 2 O’P

€) SrERaws 194+ 25-19, ¢

R15] @) 6 5 [ P.T.O.
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Which is not the key vision area of Digital India Programme?
Choose the most appropriate option from below: Vo
(A) Promotion of behavioural changes of citizens
(B) Digital infrastructure as a core utility to every citizen
(C) Governance and service on demand
(D) Digital empowerment of citizens
(E)  Question not attempted
P “Fefreet e s v o g e e &
1 % @ e Juge foea
XA) AT % sraER aRad H wgrET 3 ¥
(B) ek AT 3 fore vy saifiren 3 v 3 ffrea g gt
(C) TR Uz wfdw oi fenis (i v v ofv &)
W) =it = fEfea aerbisor

(B) AgaRaws

What is the minimum quorum required for a Gram Sabha meeting under the Panchayati Raj system?
(A) One tenth (B) One fourth

(C) One sixth (D) One eighth

(E) Question not attempted
TSI TS ST 3 & WTH AT oY Ao o T STevash =g i . 87

(A)  THIT T (B) WH N
(C) oatum (D) 3Tl |
(B) uiayy

Which one is not an initiative under “Skill India Campaign”?
Choose the most appropriate option from below:
(A) Industrial Training Institute (B) Pradhan Mantri Kaushal Kendra

(C) Pradhan Mantri Jan Arogya Yojna (D)  Skill Saathi Counselling Scheme
(E) Question not attempted

eI WRA JARAE 3 iarta S o yaat T& 22

e & & v 997w faseq 9
(A) frenfie sfreor deem (B) uFHA et Fz
NC)  TuEE S AR T (D) vt areft Frafem ey
(E) SRl A
Which of the following is not a Rabi crop in Rajasthan?
(A) Rice (B) Wheat
(C) Barley (D) Mustard

(E) Question not attempted

T 3 frfaed & § oy ot v @ 22

~A) & ®) T
© s (D) @l
(B) oaRa A

RIS] @ 7

[ P‘T-O
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‘PPP’ in terms of Gross Product stands for
(A) Public Partner Price ~ (B) Purchasing Power Parity
(C)  Public Privgle Partnership (D) Purchasing Powergice
(E)  Question nftiattempted o 0
Hehot Icare 3 waof ¥ ot o i oy oref &:- N
(A) wES ‘Eﬁ?ﬂ Y4 (Public Partner Price) f_’"
(B) 33 Ifth TWA(Purchasing Power Parity) 79
(C) wrefrer st saeft srfierii(Public Private Partnership) v
D) T Wq@(Purchasing Power Price)
(E) @y
Arrange the folloying words as per the English dictionary and find the secorgyvord:
Wm%%ﬂmwﬁmﬁﬁwgﬁwmwﬁ:
charity, carton, c%van, cardigan 2qyq N
) Cardigan g (B) Carton ‘f:\
(C) Caravan(7H) (D) Charity K
(E) Question nﬁf‘attempted | FaRa g i
What number from the following options will come in place of ? in the given series?
v Aot & e Freret § & 9 o e 7. 35 o w7 o £ ¢
324532 {jm o 7 3\‘3
(A ®) 125 © o, 77
© sl g D) 75 N ¥
<
(E) Question ogattempted / A W —

+ and — ; 8 and 7, which one of the following equation befpmes correct?

+ 33t T 8 ik 7 B T sy 35 e e § & F A asi qererm X

@Av{) 8x2+7-6=9 97,3:%73?:” (B)0<8—7+3x5=35 711;9_-53)!5:-,35
— = o + z 5 -— =
© T 8'+ bgP =25 gjxk 1- /f, gz . TE® 6638;;@ Zo 0 <
(E) Question oy attempted / Jaia T - e ®©
35 A certain sum offhoney amounts to Z 7,464‘! _‘after 4 years and ¥ 29,856 aftef)® years on compound interest
The value of sur@: N
o fAfera IR, Sprafe ST 0 4 8  AMET 7,464 AN g ANt F AR 29,8§'€rmﬁ%,a‘rzmrﬁrmm%:
) 737,320 M) ®) 3732 y- WLy % fﬁ;%
= Q-Qe
(C) ¥1,866 D) T933 € 5% 2392
(E) Question not attempted / FaR T b
—36  Keoladeo Nation&#Park is located in which place of Rajasthan? LS
(A) Rajsaman (B) Barmer v
D) Dholpur b
(C) Bharatpurgy ( p N
(E) Question if6¥ attempted <y
Faeed TS ﬁmﬁﬁqwﬂwm% uH')
(A) TIEHS o (B) ®ISN ol
TC) W D) YR
(B) FJuRa
8 [P.T.O

R15] @
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1 Which is the fastest train in India?

(A) Vande Bharat@press (B) Shatabdi Express

(C) Gatimaan Expfs (D) Duronto Express :‘)
(E) Question not mpted (D
o 6t R G el S
) R R T ®) WEATEE
(©) Wﬁmmﬂ (D) T N "2
(E) gaiaws

%  The Supreme Court ggs ordered the Rajasthan Government to shut 68 mines operating within a 1 km

. .- . - w
periphery of the criti@g) tiger habitat of which tiger reserve? o
(A) Ramgarh Vish@ari Tiger Reserve (B) Dholpur-Karauli Tigd?Reserve
(C) Ranthambore ¥gger Reserve (D) Sariska Tiger Reservg

(E) Question not ﬁmpted .
Hﬁawiwmaﬁ%&mm%m@m ETE F 1 @Fﬁa%mﬁﬁaﬁ@ 68
T Y 8 Y T ARy R d

(A) T fawuTd 2R g

(B) AR et 2R ot
(©) TrIwx

D) uiEErER s

(E) Jaf@ws oo $
%9, Pt & wrfre brataarh 2. N
Q) fe= = B) a9 3
4E) IR ﬂ ®) fre Ty}
(E) saR@ws 4
W IFE IR T w1 Pl 3w et A
A) v <t ®) www =
© T < ®) ¥ 0
(E) omaRass o\ (03,
M frefafed § & oSt wres gm a ol 3 <
@ w-sfm T (B) - IR .
C) AFT-3T (D) - fewmr ﬂ
(B) Irafayx
W Fefafes ¥ sqevaTas wdam -
(A) 9 g ®) # <
@
© w ®© ~D) 9 ™
(B) oatawd N N
%\ Choose the most appE{m‘ate English word for the given word: Ay
BIGETCE] T} ’ o
L0
(A) transfigure v (B) transgress i

(C) transcription
(B)  Question not attempted

Ris) @ 9

(D) transcontinental

[ P'T-O.
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Choose the most suitable word to complete the sentence given:

A person who settles disputes/disagreements is known as an

(A) Ascetic (B)  Altruist
(C)  Arbitrator (D)  Anarchist
(E)  Question not attempted

Choose the most appropriate word opposite in meaning to:

CHIVALROUS
(A) Bl.rave (B) Gallant
(C) Discourteous (D) Defiant

(E) Question not attempted

On which date second stage Rajasthan Union (Present Rajasthan) was formed?
Choose the most appropriate option from below:

(A)  30™ March 1949 (B) 17" March 1948
(C) 25" March 1948 (D) 18" April 1948

(E) Question not attempted

TSI €Y @éqnm)maguw%qﬁﬁraﬁnﬁagm

= & & e guges free 93
(A) 30T 1949 (B) 179 1948
(C) 25779 1948 (D) 18 31T 1948
(E) gaiawy
According to 2011 census, which of the following districts of Rajasthan has the lowest population density?
(A) Pali (B) Bikaner
(C) Jaisalmer (D) Barmer

(E) Question not attempted
2011 ¥ SFTVHT & STER FrafaRad # & Torem 3 fora foret # s o wed 9 22

(A) Tl B) wfER
~C) Sweit (L) SmpHC
® ograyE |

Which of the following statement is not correct about alluvial soil in Rajasthan?
(A) This soil contains enough quantity of nitrogen.
(B) This soil is found in northern and eastern districts of Rajasthan.
(C) Itis light brown red in colour and has a sandy and loamy texture.
| (D) Itis a fertile soil.
(E) Question not attempted
o & ety et ¥ i et § @ F-aT FuT 7 T @
&) TR H ATEEISH T wiH HEAT €l ¢
B) TEET TS % Fedt wa gt foredl & g Sireft 21
NC) TR U EshT S AT & S §HeHT TS s e Bl
©) I8 T IUSTS g 8

E B e ’
(B) rgaRa [P.T.0

RIS] (D) 10
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V) Which of the following iSe@system software?

Q

(A)  Linux < (B) Excel
(C)  Power point o~ (D) MS word
(E)  Question not attempléd
ﬁnﬁiﬁmammm@{ma |
W) fomw (B) T (Excel)
©) dRum= (D) W
(B) gaf@awsy -
Which of the following Ecgpter is noiseless, high speed and of high quality?
(A) Laser Printer N (B) Typewriter
(C) Dot-matrix Printea (D) Inkjet printer
(E) Question not attemypred
Frefafaa & & i ar e fire, wﬁd%a I 1ifr 3R == T AT 22
NA) R e (B) TS
© <eAfmfic @) T i
(B) Srgaiaws o0
Which function key is us@ to edit cell contents in spreadsheet?
Fﬁ@ﬁzﬁﬁamﬁ@ﬁam%fm%quﬁmmﬁmm%?
(A) F8 4 (B) F5
© F2 ﬂ (D) Fé
(E)  Question not attempted / 3TN ¥4
1 PB (Petabyte) is equal to:- .
&) 1024 GB (Gigab@ (B) 1024 TB (Terabyte)
(&X" 1024 Bytes 0 D) 1024 MB (Megabyte) -
(E) Question not atterﬁ?ed
“ht o (FSTATEE) SIS 2y
(A) 1024Gﬂd’r(fﬁma-§ (B) 1024 F. &t Quamge)
(C) 1024 9T5H (D) 1024 WSt (FTraTER)
(E) uRa sy
Which of the following impspreadsheet is a method of a.rrangmg the data in ascending'dt
(A) Logical operator gg (B) Filter

(C) Sorting o (P) Auto Sum
(E) Question not attex‘ﬁgted

ﬁw%ﬁaaﬂﬁﬁ?mdmﬂzﬁmﬁamﬁmmﬁmﬁmﬁwmﬁﬁ@m,

@)  wiforRe AW ®) frex
©) wfdr oAD) v
(B) orfuf@yd

Ris) @ 11

15142884 15142884 15142884

15142884

%nr descendmg order?

(s o)
N
'd‘

| P'T-O.



54  What is the full form of
(A)
(B)

STUDY247. | N
“EEPROM™? N s

Electrically Eragabje Programmable Read - Memory
Electronically Erasable Programmable Read - Only - Memory
© Electrically Erasable Programmable Read - Only - Memory

(D) Erasable Electrically Process Read - Only - Memory
(E)  Question not attempted

“EEPROM” H1 Qi 7q 8 - il
(A) TR e S s A
(B) TR St e s il A9
~Q Tl feer e 8 saeh A
D) TS AR T e Aeh Furd
(E) A7afawy
\5& Which day has been declared as the “National Space Day’ in India?
(A) 27 August
(C) 23 August
(E) Question not attempted
Frafafaat o s ara § s siafer e ifve frmmr 22
~4A) 27 IR (B) 20T
(C) 233 . D) 25T
(E) rfaia ger
—56 fr=fafiaa # y= fofaa v 2-
wa e
b e s s
G q?,ﬂ'{‘IGT
d  wust
<e TR .
3 e et 3 & warHeren Sugw S I
(A) ¥ab,cd B) Facta,b3c
<€) ¥awa,caie | (D) Fab,d3e
®) a@aﬂa;er |
sz ﬁrmf%iﬁa?rﬁsgz%ﬁaﬁm%- ' .
(C) T3 wvia & a2 (D) w3 i
(B) iguRaws =
~sg ¥ FIVAT ETE o ad ol 8-
() T B) T & v
(©) i arEr (D) et & =T
(E) SAJaia 9%
RI15] &) - (RS

(B) 20 August
(D) 25 August
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- Which of the following statement is most appropriate about the Himalayan Rivers?
(A)  They flow through the fixed course with well-adjusted valleys.

(B) Nature of flow is seasonal and dependent on monsoon rainfall.
(C) Catchment area is very large.

(D)  Their place of origin is plateau.
(E)  Question not attempted
femerdt afeat & i & Freforfen 3 & e e wad 3uge
¢A) %mﬁﬁm%mwﬁﬁ%mgﬁfmnﬁﬁm%l
By  aTE < wepfer et & i A et o et 2
(C) IR &7 95d TSR
'Q)) ST I5H T ISR 2l
(E) SrgaRaws
QA When the primary tributaries of a river flow parallel to each other and secondary tributaries join them at right
angles, the pattern is known as :
(A) Dendritic (B) Trellis
(C) Centripetal (D) Radial
(E) Question not attempted
o T A Y srafiren W A, T gE 3 G adt 8 i fidt were Afkat s awor o et

R, A 3 e Y e S - == —=
™) FIERE @ STl
(C) bRl « D) =
€) omafawE

61 Choose the word most similar in meaning to the underlined word in the sentence:
The acerbic remarks of the boss were unwarranted as she had put in a lot of effort in preparing the presentatioﬂ.
(A) childish (B) whimsical
(C) bitter (D) appreciative
(E)  Question not attempted
62 Choose the word most similar in meaning to SPURIOUS from the options given:
(A) considerate (B) soiled
(C) incessant _ (D) unauthentic
(E) Question not attempted ‘ .o
63_  In which generation of microprocessor “VLSI’ chip (32bit) i's used?
(A) Fourth (B) Flr.st
(C) Second ° (D) Third
(E) Question not attempted

TR o foe e # o v a8 g (32 fir) w1 swi fRm T @2

(B) TIqH
=t ,
\f:)) - @) T

EGIE]
(B) orgaia Id
Ris) @

13



(A) Alakh Qfiranjan

(C) VishnaDharmaprakash

(E) Que’stib@not attempted

STUDY247. 1 N
\Q Whose discip§~as Dhanna? ;
(A) D.adu DXyal w10 (B)  Kabir (8 ¢/
() Pipa g '©' (D) Ramanand M
(E) QUEStigI_l,pot attempted :
(A) 3 zaTed B) T e
O D) =
(E) 37 <)
\6§ In Rajasthan,ggserting a gold nail in the middle of the teeth by a woman isggalled:-
(A) Baari @ (B) Damna @
(©) Borla S}' (D) Choonp N
B) Questionnot attempted 3
TSredT 8, forgftyferett grr it 3 sfver a4 shier wTAT seear 2 Lr)
A T v (B) gmET =4
(©) sren © T
(E) i@y
=66 Choose the mipst appropriate word to complete the given sentence: d
I was delig the present you gave on my retirement. g
(A) for ¢\ B) from N
(C) about= _ (D) with <t
(E) Questlgh not attempted -
67  Choose the mast appropriate word ﬁ:om the options to complete the givenggntence.
Despite her illness, she insisted _____ going to work as she had plenty of pending work.
(A) to B) on
(C) in = W) for <t
(E) Questimnot attempted w0
~68 Which of the:@lowing text is composed by Jambhoji? g

(B) Mukam wf
(D) Amavsya of Fa!l%ﬂn
8,

For @ e B et (Texe) sovisft gvr oerr 27 ™
(A) @ e %B)) T

~O) o g ofD) ST S g
(B) TaRegs o0

6Q Who was the@st person to call that region ‘Rajputana’, which is now knoWa as Rajasthan?

(A) George Yod
©) Georgg_‘_[ homas
(B)  Questiii not attempted

(B) George Abraha@

(D) George Alexandeg
uy

I 8 Y TSI e AT o ST i 3 Ry 31ar e e s &7
B) SISl e
D) I TR

(A) SdE

(C) it g

(BE) Iyafa vy
RI15] &)
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€. Which of the following is not an exothermic reaction?

g

R15§ ] .
@ [ P.T_O

(A)  Decomposition of calcium carbonate to calcium oxide and carbon dioxide
(B) Formation of slaked lime on addition of water to lime
(C) Burning of natural gas

(D) Respiration

(E)  Question not attempted

fadaam Teh FHererdy Cﬂm(exothermw reaction) TE 27

(A) %mea’ﬁzm%ﬁuwmamﬁwaﬁmﬁm
(B) I H A STeM W = &1 Fmfor

©) u@ﬁmﬂqwm
D) &8
(B) ¥gaia v
Which of the following is not an allotrope of carbon?
(A) Graphite (B) Diamond
(C) Hydrocarbon : (D) Fullerene

(E) Question not attempted

e § ¥ S G FHTE T T ATEY (THIS) TE 27

(A) e ®) &
~C) TESIHET (D) FHA

(B) AERa@wd -

The Rising Rajasthan Global Investment Summit 2024 is being organised in
(A) Jaipur (B) Jodhpur

(C) Ajmer (D) Bikaner

(E) Question not attempted

TR TR Tellee RS WikE 2024 F AR CRERIS IRGIRS
(A) SR (B) R

© ~ D) R

(B) gaiays

The Calligraphy of the Hindi version of the Indian Constitution was done by

(A) H.C. Mukherjee (B) Vasant Krishan Vaidya
(C) Nand Lal Bose (D) A.V. Thakkar

(E) Question not attempted

TR e F R e mgaET s’ R

(A) U HT q@si (B) oH= ST A

(C) FeadTaE (D) Ut FFR

(E) HFaRawd «

Who is the present (as on 01 September, 2024) Chief Minister of Rajasthan?
(A) Bhairon Singh Shekhawat (B) Bhajan Lal Sharma

(C) Vasundhara Raje (D) Ashok Gehlot

(E) Question not attempted

e 3 T (01 R, 2024 ¥ o) Tl i 82

A) ¥ fire Srara By~ o o1 T
©) TGS (D) i T |
(B) Agaid ¥

15
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If “PARK” is coded as ‘5394°, ‘SHIRT’ is coded as ‘17698° and ‘PANDIT" is coded ‘532068" then hoy,

would “NISHAR' be coded in that code language? .
e PARK” #Y 5304", ‘SHIRT 9} 17698" 37X ‘PANDIT® # *532068” S foraT SITT & f ‘NISHAR® 3

wﬁgwﬁmmaﬁmam < o
A) 6734 X
(A) - qpﬂ?@g CNB) 261739y
(C) 261789 ‘ 231954 N
1A D) <
(E) yQuestion not attempted / TR F4 :'r"
- - - j
Find the missing number (?) in the Table: v
%ﬁaﬁ%ﬂm (?) I HL:-

2 dol | 6 o

4 N7 [ 2 ot .
g s | 1 ?\3
30 Jy34 | 2 P
. |
@) "3 ® 15 1
]

™~Q 16 D) 17

wJ
(E) ¢yQuestion not attempted / STRd ¥4
o o
Whi&%})ne of the following water bodies separates the Andaman Igkinds from the Nicobar Islands?

(A) :}:abian sea ‘ (B) Gulfof%nnar

©) lf5° Channel ®) 10° Cha:@el

(E) Questlon not attempted l-ﬂ

ﬁuﬁ?ﬁﬁﬁaﬁwmmﬁm m#mﬁﬁaﬁmmaﬁsﬁwm@

(A) ggawcx < W) TR F R

©) ©§ ¥ ~O) 10° %“Hﬁ
(al \
Sy g

Post- llﬁlependence of India how many states of Rajputana (Presquyj Rajasthan) were elevated towards the
¥

Indian Union? lﬂ

wrﬁmaam%aﬁmm mmﬁmmmwﬁmﬁaﬁq@

Chooﬁﬁhe most appropriate option from below

o0 ' e
(A) ‘3j> ® 17 N
r <t
(©€) l'._n} D) 19 —
(E)  Question not attempted / 3TTa1d ¥4 uH-)

1
RI5] @& 6 [BT.O.
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N The executive powers and functions of the Governor are:

a. All executive actions of the Government of a state are formally taken in his name.
b. He cannot seek any information relating to the administration of the affairs of the state and
proposals for legislation from the Ministers.
C. He camfimake rules for more convenient transactions of the business of a State Government.
d.  He appoints the Chief Minister and other Ministers. :‘g
Choose the most ajpropnate answer from the options given below: )
(A) b, aandconl . (B) a,bandd only N
(©) b,canddo (D) a,candd only -
(E) Question nqhttempted =
TeauTe! Y FEE-AReat i HE & L)

TS TR S aeft refenrl srdarfeat sitqeies &9 & 37 T 7Y St A

a.
b. ﬁw%mémﬁaﬁéﬁmww%m%a&ﬁqﬁﬁ%mﬁm
uaa‘%r
; aﬁu@m%m%aﬁmmm%ﬁﬂﬁwwmﬁ
| o yeRnEt 3K T A m%r-a o
ﬁ%ﬁqwﬁa&q‘rﬁﬁmmm :p‘
¥A) Faeb,a (B) ¥Facia,b3id -3
QC) FEdAb,c (?9) FacTa, ¢ 3Id Te)
(B) Sruiaws =i

Read the passage carefully and answer the questions that follow:- (Q. 80 to 84)

Asth\ma is a{x‘;spiratory disorder that we have known about for hundreds of years. However, there is
still no_gure although drugs, such as sterojds, and inhalers can alleviate the symptoms-ofian asthmatic attack,
and there is still norknown cause. Worryingly, the number of people who suffer frof# asthma is increasing
rapidly. In some cGuhtries in the world the disease is becoming more like an C.Rldemlé‘t;

Because of T huge increase in the number of cases in the last 30 years, there is é widespread feeling
that some kind ogl ife;sgzle change is to blame. Since asthma is.a disease which i impairs breathing, many
researchers have ught that a reduction in air quality mlght have caused the increase,in it. Howeyver, it is
now thought that although the pothtxon in the atmos; yhere might exacerbate the conditiop, it is unlikely to be
the cause of it. £

For a considegable time, household dust mites were thought to be a possible cause of the condition, but
attempts to keep these to a minimum m have not reduced the numbers of asthmatic sufferegs. Far from it.

Now researchiers are lookmg at diet to ﬁnd the culprit. The period over whlchraSthma has increased
dramatlcally in séfde countries coincides with a period when there have been mai ' changes in diet i
countries which hi¥ seen the highest rates of increase. It was first thought that some kmd of dietary a] o
might be a major %%étor ergy

At the momext, researchers looking for a dietary m&er for asthma are cons1denn% Whether 3] K
antioxidants could be responsible. Their possible protective powers have been much dlScPsSe diti co ack of
with other disegses. Now, docfors are wondering if a diet rich in things known to contain high l‘mecnon
antioxidants, such as fruit and vig‘etables, would prevent asthma, especially if such a dj <vels of
pregnant women. =t

Meanwhile cﬂ;e schoo]bags of more and more children contain an inhaler
notebooks Someq;ggg at school could trigger an attack and they must be prepared.

€t wag fOllOWed by

gf,well as bookg and
~>

8\ The use of Stermd&jﬂd inhalers for asthma is to: g(;
(A) intensify it e (B) heal i't p

(C) relieveit LY (D) cureit <)

(E)  Question nat-dttempted L

v~

Ri5 17
! @ [P.T.0,
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For a long time jt W

Itis unlikely 1, be the cause of jt: x

A .

EC) Wrong dietary hapits "' (B) an unhealthy lifestyle
(E)) the poor ajy quality (D) insufficient exercise

Question Dot attempted

Identify the Statement which fo,

(4)  Dietary allergies might be a major factor.

(B)  The pollution in the atmosphere probably exacerbates the condition.

(©)  Householg dust mites were thought to trigger the attack.
D) A diet deficient in antioxidants

(BE)  Question not attempted
Which of the following is not like
(A)  Air pollution

(©)  Dust mites

(E)  Question not attempted
Match List-I with List-IT

may be responsible for the condition.

ly to trigger an asthmatic attack?
(B) Cigarette smoke
(D)  Fruits and vegetables

List-I (Words) ~ List-IT (Antonyms)
a. alleviate L assuage
b. impairs II.  aggravate
c. exacerbate OI.  leisurely
d. rapidly IV. repairs
Choose the most appropriate answer from the options given below:
(A) a-IV,b-Lc-II,d-II B) a-Lb-Ic-I,d-1V
©) a-ILb-IV,c-Ld-IT D) a-M,b-IV,c-Ld-II
(E)  Question not attempted
“FHETE’ & Ay =g -
(A) 3+3I‘EOE ~B) T+ IWE
(C) FeT+4rE ' | (D) FRM + e
(E) i@y '
forse 1 afa e -
A) :+3e B) f¥+3=
) Ffr+de (D) dt+3=
(E) i@y
Foreaferfiaar f 23 gt e a1 Sareco 7ef 7
(A) Fravh - B) e
(C) =T , (D) iehs
(E) rgafa g %?
A’ § FHH-A1 qHEH
(A) f | ®B)  aege
(C) 3FvE ' . (D) =g
(BE) gafa g4

RIS] (&) °

cuses on the newest possible cause of asthmatic attack:

as believed that although one of the following might exacerbate the condition (asthp,

[ P.T.
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) =
=t 2.0
89 Horizontal comﬁﬁbent of earth’s magnetic field at a place is 3.2 x 10~> Tesldfand angle of dip is 60°. The
resultant i mtensn;y Pf earth’s magnetic field at the place is - . j

Foreft T o et e o ot T e 3.2 x 10-5m%ﬁmw60°%lwmww%§ﬁﬁ"

& Y aftomet et 2 - 19
(A) 128x 1o§_,'r (B) 32x10°T ~
© 16x10°T - (D) 64x107°T
(E)  Question not attempted / 3TTala ¥ <
9K Which mirror wﬁi show a wide area view? | %
(A) Parabohqmmor (B) Plane mirror e
(C)  Concave frror (D) Convex mirror ¥
(E) Questionzgét attempted o :}:
forer o 3 gdor 8 S @ Rrearita gear et Y SraT 22 v
(A) waaRmednr (B) T TgT
NO) e g (D) A T |
p
B) 3IgaiE i e
91\ The correct sequence of different steps of polymerase chain reactionis - ¢y

(A) Extensmﬁ-i—) Denaturation —> Annealing (B) = Annealing —> Deﬁaturatlon —> Extension
© Denaturggpn —> Extension — Annealing (D) Denaturation —> Ax}nealmg — Extension

(E) Question-dot attempted T
Uief St 3 A= S wrad w2 - 4
A) faew S fifsor — whfin B) wHifET — FftwT — TR
©) s — yar — i @) fftr — whferr > forem
& aphos w
92\ Blood groups ing%lman population is an example of g
(A) 'Aneuploié‘,{? : (B) ~Co-dominance .y
(C) Incomple®'dominance (D) Pleiotropy 4
(E) Questlonﬁb‘t attempted Ly
maﬂ&ﬁsﬁ@m T T 33T 2 i
(A) g (B) ¥e- Il
() SR @) wgeRm <
(E) Igafa HE' gg
93  Find the incoryest match from the following: by
(A) Ring wo&ﬁlEpzdermophyton * (B) Elephantiasis - W.iRalayi
©) AlDS-Re r_gvnrus D) Pneumonia-E.histé]j}tica
(E) Questionlfidt attempted =1
e i & ot 7 G Y & Sl TR NG o
(A) = (feram) - TfieateEEeT ®) erfinid (ferhfefim)- gseg, e
@) T=H (AIDS) - QIERRE @) ffen - Rkl
(B) T aRd ¥ ‘

RS| @ e [PT.0.
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elect the bacteria] Species useful as single cell protein (SCP).

(A) Monascus Purpureys (B) Spirulina
©) Methylophilys methylotrophus (D) Trichoderma polysporum
() Question not attempted

meﬁwmﬁaﬁﬁqsﬁwﬁﬁmsﬁ&(sw)%ﬁﬂm%

(A) AT Troem ®) Raefert

©)  Fregeirerser fromeizes D) ZrEFHf Gt

(B) gafawy

Select the seeds that are 100% pure and their bag is tagged using golden yellow colour :-
(A) Breeder seeds (B) Nucleous seeds

(©) Certified seeds _ ‘ (D) Foundation seeds

(E)  Question not attempted

maﬂaﬁwm%ﬁﬁmﬁ100%@%%%%hﬁmmmmﬁmm%:-

(A) S (st dsr ®) T e o (e ot
(C) wwifvre sfis ) (D) YR (FEYF) st
(E) uRawy

2Mg+0,—>2MgO

In above chemical reaction, the Magnesium metal is

(A) Displaced (B) Reduced

(C) Oxidised (D) Dissociated

(E) Question not attempted

2Mg+0,—>»2MgO

Sires ferfa Tt sififirar 8, A g w2

A) faenfia B) Iv=fm

(C) 3idiFa D) ffsm

(E) gaiayd

Which of the following statement is incorrect for a chemical change?
(A) A colour change may take place. (B) A gas may be evolved,
(C) Heat may be produced but never absorbed. (D) Sound may be produced.
(E) Question not attempted . ;
T Ta T aiEd o forg e 3 @ i | e a2

NA) o1 ufed g FewaT )

\¢B) @ﬂvwﬁ_ﬁra‘rm%l
YC) T 3o & Wl & e STawifia Fut oft e a2

D)  eafy 3 & wadt &1
(B) Agafia w4

[P.T.
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% Honeybee culture is cajjed.
(A) Lac culture

Silviculture
© Apiculture ®)

. (D) Sericulture
(B)  Question not attempted

ARG TS Y gt Sy 2.
(A) N () T
B) facdfiFde
(€) Uit o
(E) TR s

9 Thename of global satellite-based navigation system developed By the United States is
(A) GLONASS B) GPS

Gali
(C) Galileo (D) BeiDou
(E) Question not attempted

et (US) T forhflra Y moft e sy T Arey (e Sorreft @ AT 8:-
(A) ’Fﬁ‘ﬂ'{?(Glonass) (B) GPS
©) Aeffe (Galileo) (D) & (Bei Dou)
(B) SIgaRawsy :

100, Which one is the correct lens formula?

(Here symbols have their usual meaning)

FRid v Fadt g s ar?

(&t Sreftent o wTT Frafira ond R)

@ e F ® Tyt
1 1 P11

@ Fr3-g U e

(E) Question not attempted / algﬂ'fl?f L

W0k Choose the most appropriate English translation of the given sentence.

TR AER?
(A) She is weeping why? ®) Why she is weeping?
(C) Why is she weeping? (D) She why is weeping ?

(E)  Question not attempted
10 Choose the most appropriate reported form of the given sentence:
He said to him,”Is your name not Robin?”
(A) He asked if my name was Robin.
(B) He inquired whether his name Was not Robin.
(C) He asked if the name was Robin.
(D) He said that wasn’t his name Robin

(B)  Question not attempted

Rls| ® 21 (P,
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193 Choose the most appropriate option to fill in the blank:

When my fri . .
b cht ?1;:; biirrl:)ewt: dg)llect h‘er books, I was a little embarrassed as I onlgne out of the five
(A) ha.ve read o0 (B) read o0
(C) willhaveread N
. : (D) had read N
(E)  Question not attempted <
104 Choose .the most appropt?‘éie option to fill in the blank: i
The police officer stoppe(!i_'_ﬂs and asked us where ) N
Eé; :/r: v;:re going (B) were we going H
> going ~P) we are going
(E) Question not attempted
105 Choose the most approp;r:g;i;te passive construction of the sentence given: =
Everyone knows the fac 5,0f the case very well. - f?;
Eé; ?t;:rt)‘:::se ::fhvzsc @%i(;ti :f tl::e;:lal:. (B) Thecase i's known to everyqng very well.
7 il ;?ged ry own. \@) Everyone is known to the faets of the case.
\1?6 Match List-I with List-IT ¢+ ) I'B‘
Els:-ll) (Indian player) List-II (Associated sport) v
a. irabai Chanu i Gymnastics
b. Dipa Karmakar ii.  Weightlifting
c. Hima Das iii.  Archery gt
d.  Deepika Kumari iv.  Athletics (0]
geit-1 1 foram w=ft-11 3 g s 00
wrsfi-1 (et R Fet-11 (Eeifem B9 o
a. tii1|a|§aﬁ i. i%ltﬁim
b, dTFHER . i, R 3
c. fmam i et T
d.  ftem - v. TR T
Choose the most appropriate option from below:
o= 7 O wae 3G forehed &1 99 HI:
(A)  a-ii, b-i, c-iv, d-iil g4 B) aiv, b-iii, c-i, d-ii wp
Q) adiii, b-iv, c-ii, d-igyy QQ) a-i, b-ii, c-iii, d-iv o
(E) Question not atterppted / 313,?1'&3 s 8
107 India delivered the first gonsignment of ‘Brahmos Supersonic Cruise Missiles’ to whiCkl country?
(A) Bhutan < (B) Nepal =
(C) Bangladesh 4 (D) Philippines v
(E) Question not atterafted N
mﬁ‘mgmﬁﬁﬁﬁvﬁeﬁ’ﬁm@qm%maﬁﬁcﬁ? i
A) TH (B) U
(C) ierRd (D) |
(E) i 94 < ' =t
168 Which Indian player wo&}?'ronze medal in the R2 Women’s 10m Air Rifle SH1 evefiQat the Paralympics,
2024. [n 8] 0
(A) Deepthi Jeevanji (\ (B) Mona Agarwal N
(C) AvniLekhara =ft (D) Bhagyashree Jadhav S‘

(E) Question not attempted . |
arfeifess, 2024ﬁR2H%ET?‘_"lOtﬁ2'{®TIEW SH1 Tyt & fare Wil Raete 3 siey wea sfran 2

(A)  dify sfesht (B) T AT
(E) 3raRa ¥4

RI5] @) 22 [ P.T.O.
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1@\ ‘VAIBHAV’ Fellowship Prdgramme is implemented by which Department of Government of India?
(A) Department of Revenue (B) Department of Science & Technology
(C)  Department of Social Justice (D) Department of Economic Affairs
(E)  Question not attempted

AV SR Rl i TR S R Ry gry St R T
(A) TeE v @) g wE Penfieh o
(C) W = fermy (D) 3wt o feram

(B) gaiays

W)7 The main components of dettol are -

(A) Chloroxylenol and Terpeneol (B) Chloramphenicol + Glycerol
(C)  2-3% solution of iodine in alcohol (D)  0.2% solution of Phenol
(B)  Question not attempted
- aF e ewt-
(A) TR T e (B) TR + Fewda
(C) UThIErer & SRS # 2-3% frermm @) it %7 0.2% farer

(B) @R

MY Select the most appropriate statements about human insulin.
a. Human insulin is made up of two short polypeptide chains.

b. Two chains are A and B chains.
c. Two chains are o and Y chains.
d. Pro-hormone contains extra stretch of C-peptide.
e. C-peptide is present between two chains in mature form of human insulin.
Choose the most appropriate answer from the options given below:
(A) a,b,dandeonly (B) a,candeonly
(C) a,bandeonly (D) a,bandd only

(E) Question not attempted
AT 3G & w7 gad 39T YT FH 99 ;-
masa%z%aﬁaﬁ?ﬂﬂm@maﬁmm@mél

G

a.

b, 2 sEart A iR B HEeT E)

c. @A o IR Y @t B

d. T EEA () ¥ C - Y2rse F HAfafte @ue/gwer dar )

mmam%mmwﬁmmﬁmmﬁ

ﬁmwﬁmﬁ&wﬁamwaﬁ
(A) Fada,b,d3Re (B) *ada,c3ie
(C) Facaa, b3iRe (D) Fada,baid

(E) aiasd

L2 The literature which is engraved on inscriptions, coins and seals is called literature.
Choose the most appropriate option from below:
(A) Traditional (B) Folk
(C) Epigraphic (D) Regional
(E) Question not attempted
g gifged St tfrera, fraehl aum gedl W 3chif ST g, qifee saemar )
e & & waa 39g faswea
(A) S| (B) =
© TEH (D) &
(B) rgaRa w4

RIS) @) 23 [P.T.0,
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\13 ‘Languriya song’ is re&;ed to which god/goddess?

(A) Shree Mahaveer (B) Jeen Mata
© Kilaled. 50 (D) Khatu Shyam ;g
(E)  Question not a&'lpted o
R T e St & it &7 by
(A) #HfmeEr W0 @) Shoram o
NC) et i ; ©) wzEm S
(BE) i@y ot
114 Choose the odd one o®¥ffrom the given options.
ﬁqﬂﬁﬁwﬁﬁﬁa@ﬁmmwa&:- ot
A) (13,195132 N ® (1,141 Fe)
—~©) (7,67 %0 v- D) (5,35 9o gs
(E) Question not at{ﬁnpted / SFARa I qc
\H§ Pinki scored more thafi-Rakesh. Yami scored as much as Dimple and Lalita scorgg)less than Manju. Rakesh
scored more than Yami and Manju scored less than Dimple. Who scored the least-ainong the given persons?
(A) Manju (B) Rakesh
(C) |Lalita o0 (D) Yami
(E) Question not #&mpted .q'
ﬁﬁﬁ@mmmﬁm%hmﬁmmﬁﬂ@m%mmﬁmﬁmﬁm@mmmmmﬁm@mﬁmﬁamws
aﬂtﬁ%%ﬂﬁ@f@pﬁmmlsﬁﬁ%@mwwmﬁm ;;{
(A) = 1 (B) THA N
Y E’Iﬁ'ﬁﬂ' i D) et L1HT) !ﬂ
(€) FHaRayd "ﬁl ol
\1\1‘6 Pointing towards a gifdn the picture, Sunita said, “She is the mother of Neelam Jﬁ’keelam ’s father is my
son”. How is Sunita r&ated to the girl in the picture? wp
(A) Mother -in - ng (B) Daughter %
(C) Niece <t (D) Sister N
(E) Questlon not at!a?apted
FefiT, § uah S 9T S BT AT 4 ‘ﬁaﬂmﬁmﬂ%mﬁm%w&ﬁ%g:m
ﬁmma&aﬁtﬁmﬂ waiferd &7 E]"}*mim 7
~—~4) @ ® &
() wispwist < (D) &
() Hgaia ¥ v e e
‘ﬂ\ Which one of the folleg is not a viral disease? gg
(A) Influenza q. (B) AIDS ol
(©) TyphOld =~ (D) Dengue <t
(E) Question not at'éiipted s
fa= ﬁﬁaﬂ#m@fafﬁw iferar T 27 Te)
() T ® wEaDs)
©) TEHEE ® <1
aa'aﬂﬁ A
® : 24 [ P.T.O.
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w Which of the following is not a space mission launched by ISRO?

(A) Space-shuttle programme (B) Chandrayaan
(C) Mangaly (D) Aditya-L1
(E) Question i attempted g
FIT S 8 r 3 8 (15RO v et v sy et e 27 0
(&) e et rrim (v wrew) ®) FFAA N
© Wm0 @ @ 3
() wwica ward Ty
1}9\ The main function of a GPS system is: v
(A) Space explgration (B) Weather forecasting
© Navigatio@@nd positioning (D) Satellite imaging
] A
(E)  Question A8t attempted [46)
Sft. 9. @ (GPS) STeft v e e 2 o
(A)  siafter s ® ewgEE
O Arear (Afaiyrn iR Rl @ gar smET ®) swE@Ehm
) rafe w . Te)
190 1 T S F T H et o s A el H0) 6 R M v &) aw el - fea @i
(A) i gy, (B) it forar
) omds e (D) sEBRT o
(E) g wé#o ‘ e
1%, TR g S At o
Tefl-J (3K % e vrs) Teh-11 (R et vrew)
a.  ABKIDGE . TR j
b. ANNEXURE 0. E&gor T
c.  AMENDMEN . HoHs i
d.  APPROVAL V.  eiaa ’
A fow o forshegh & & wriferes Fug s i
(A) a-NLbiM c-Iv,d-1 NB) a-ILb-TLc-FAd-I
(©) a-IV,bgc-HI,d-I] (D) a-ILb-1v,c-8 d-1
®) STy -
122 ‘Acknowledgerhéht’ T f&dt wuiat M- -
L |
(A) THH B) 3w 1N
(C) Tt (D) famfa ™ .
(E) Fgafaw
123 If12boysor 18 %ls can do a certain work in 14 days, then in how many daysvill 8 boys and 16 girls do the
same work? O\ =

qﬁlzmmgmwmaﬁmﬁﬁﬁwmmiasmﬁg%1633%39‘}@:?33;%39{
Rt it gt [ ~r

(A) 13 i B 7
Yo o 3¢

(E) Question not attempted / 3TFAT S g

RIS| (@) J 22 )8 /6Y iy b [PT.0,
M /Ne ’—%’Wﬁi
, 9 .
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4%4 In a triangle ABC, AB = BC and length of AC is J/2 times the length of AB. If the perimeter of AABC is

(14 +7 y2') cm, then the area of AABCis-
T B ABC #, AB = BC 3 AC #t @, AB it @ 2 T &1 AR AABC 1 TRA

(14+7 /2) 703, & AABCTH TR - -
|

(A) 5‘% cm? (B) 59cm’

©) % cm’ (D) 69 cm?

(E) Question not attempted / 3T T
\QS Tropical thorny forest is found in which of the following regions of Rajasthan?

Choose the most appropriate option from below:
(A) Kota

(C) Jaisalmer

(E) Question not attempted

ST FidER 3, e 3 frafataa # & e & 3§ arg S €

(B) Udaipur
(D) Baran

o § & wa@ Iugw fased I
(A) FRT (B) L
© SR (D) R
(B) IaRa 5H
\QG “Kolayat lake” is situated in which of the following place of Rajasthan?
(A) Churu (B) Bikaner
(C) Udaipur (D) Ajmer
(E) Question not attempted
“epreTId g e 3 Prffaa 3 & fre v & R &7
@ T ®) R
(C) SAR (D) I
E) FaRaTH
und in which of the following forest lands?

Babool, Khair and Khejri species of trees are fo
jon from below:
(B) Montane forest

(D) Tropical Evergreen forest

R7
Choose the most appropriate Opt

(A) Littoral and Swamp forest
(C) Tropical Thorny forest

(E) Question not attempted .
ECGl téraﬁt@?@mﬁféaqawﬁm%ﬁaﬂﬁﬁﬁﬂwa}a&qmm%%?
ﬁwﬁﬂwﬁwﬁmﬁﬁ:
(A) ot o geractt O (B) q-a‘maj
~0) effer R (D) IWTHIHH HIERR
(E) e T4
e 55 AR [P.T.O.
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ia?
. state Of India
\28 The temperate forests called ‘Sholas’ are found in which of the following $
(A) Tamil Nadu (B) Punjab
(C) Raj (D) Odisha ;"
(E) Queegon not attempted 0
woqierr” et 7=, Frafafia # @, wr@ & mmﬁmaﬁ?‘? o
(A dfdTg ®) <
© T @) 3 E;
(E) wgﬂ : ted? '
‘1439 Where is thejPublic Service Commission of Rajasthan located”
(A) Alwar (B) Ajmer
(C) Jaipur (D) Jodhpur <
(E) Quéstion not attempted o0
AT AT 3TN el Rud &2 \B oo
(a) ) o
((g STRE 4 titutional
N o 5 fa Const1
\'ﬁo By which ééastitutional amendment, the Urban Local Self Government w&g‘_}wen the status 0
Institution® * o -
(A) 42 Constitutional Amendment B) 44" Constltutl.onal Amendm
(C) 74" Genstitutional Amendment (D) 73 Constitutional Amendment
(E) Quexdon not attempted ¢ ¢
e TS HE 2T T ST TR ) daeen e o gt o
(A) 42@%11% (B) 4430 Gawutieh Hyme
(C)  74FpHIAH G (D) 73maaumﬁu:
(EB) SHaflayy
~431 Panchayatﬂiaj is a system of: ""
Choose the most appropriate option from below: '
(A) Rurgldocal Self Government (B) Local Government
(C) Lod@DAdministration (D) Local Self Gdvernment
(E) Qu%ﬁon not attempted o0
TR OGS HrEEeR) ‘;{
frefefaddm aaa sugw faseT T4 —
) AT e e B) T TER 3
() T Y D) wEE
(E) Hguiayd
\1:31 The conceﬁg_of ‘Directive Principles of State Policy’ in Indian Constltun?p\“,as Borrg
(A) Amepgan Constitution (B) German Constifption wed from\
© Inslfgonstxtutlon (D) Japanese Consiifutiog :
(E) Quedton not attempted s—q-'

st SRf A e i Pl Rt Ao aimey,

(A) aﬁﬁa%aﬁm | (B) qﬁqqﬁm
b‘ SrafeT d@faym (D) W%Fﬁm
(E) oFgaRa ¥4

R15) @ 27

I D~
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\133 When did the Portuguese take over Goa?

gﬁ*n%ﬁﬁ’ﬁmwaﬁlmmﬁmw )
(A) 1526 (B) 1506
©) 1510 . (D) 1518

(B)  Question not attempted / AR I
N34 Which One among the following is not a salient feature of the Indian Constitution?
Choose the most appropriate option from below:

(A)  Universal Adult Franchise (B)  Lengthiest Written Constitution
(C) Dual Citizenship - D)

(E)  Question not attempted

mﬁ&mwmmﬁ@g@ﬁﬁwﬁﬁ

Fefafed & & waa Iug fosheq o
W) s e raiemr B) R e forfaa wfye
@) 3l Avfenar D) ThEd 3R = =R
(BE) guiaws 4
135 When was the ‘Agnipath Yojna’ introduced by the Government of India?
(A) 14 August 2022 (B) 15 July 2021
(C) 14 August 2021 (D) 14 June 2022

(E)  Question not attempted
WA FHR SR A9 i et 376 I 7 ot

(A) 14 3FRA 2022 \i) 15 @S 2021
Q) 14 3R 2021 S ®) 14572022
(E) i@ sy
136 Tt & 1 o s e vres 7 &
(A) T ®) W
© w= @)
(B) SgaRayd
<137 ‘Sed’ wisg A fafea swmt &
@A) = ' =~ =
© = o =
(B) IIaRa g :
B8 getIFg-I d gafa Hf
g1 (712) -1 (uaaaTs)
2 R L e
- o 18 RIGRIC]
. o I 9=
g e V. opig
< R faepedt 3 & wafere 39 I g

( a‘I,b‘H;c-m’d-Iv
(€)X a-1IV,b-I,c-TI,d-1I

(B) rgafa
RI5] (@)

m) a'IV;.b'IILC'H,Q'I
(D) a-]I,\b-]]I,c-IV,d—I
~

28
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139 A bag contains coins of 50 paisa, 25 paisa and 10 paisa only. The ratio of number of coins of 50 paisa,

25 paisa, and 10 paisa is 5:8:3. If all the coins in the bag amounts to ¥ 144 then the number of c0

ins of

25 paisa in the bag are:
T Y 3 e 50 ¥, 25 4 ot 10 8 35 R &1 50 89, 25 9 37 10 ¥ 35 Rt P sy AT 5285
AR R A g R wramz 144 8, ?ﬁﬁﬁﬁzsﬁsﬁ%ﬁﬁ%ﬁmm 2 ki
(A) 280 B) 150 %\fdﬁﬁ [

240 (D) 260 75%7’ !1;:
(B)  Question not attempted / ST I J{Y? g

idg Six numbers are arranged in decreasing order. If the average of the first five numbers is 40 agnd the average
of the last five numbers is 30 then the difference of the first and the last number is:
E TS Y T w5 3 T i geelt ate deareit @ sitaa 40 S snfad at wEared # rad 30
T TEelt it el Tes w5 ST R

(&)

Q
E)

90
50

Question not attempted / 3TTARA IH

\l& Match List-I with List-IT
List-I (Characters)

Flower color
Pod color
Seed shape
d. Pod shape

o o B

Teft-1 Y eI & gt i :
geft-I (fervream)

57 T
Bt a1
st 3R
BeAt ATHER

A0 oo

(B)
D)

JERT

<ERT

25 Sy.fdlg.: {0\)

*030 L, LY
o
z"(’&o %\Sb S o~
k- J

List-II (Contrasting Traits)
Green/ yellow
Violet/white
Round/wrinkled
Inflated/ constricted

-1 (Ferveft om
KUAISI

STt
HISPE

Choose the most appropriate answer from the options given below:

= e e faeredl § & waifa® I9g® WA

(A)
©
(E)

a-Lb-I,c-1V,d

a-IL,b-Lc-1I,d-

-1

vy

Question not attempted / FFART T4

\ki\Z The Thalassemia gene is present on

(A)
©
(E)

mitochondrial DNA

XY of 23" pair of chromosomes
Question not attempted

erehferar ST

(A)
©
()

RIS] ()

HIZERITSATE & T T

233 TR SIS F XY
SN ¥

qT Jufyrd gaT &

“(®)
~D)

29

(B)
D)

(B
(D)

a-I,b-1c-IV,d- I
a-Lb-I,c-ILd-IV

XX of 23" pair of chromosomes

an autosome

239 TURA Siig % XX
T Jfei g () 0

[ P-T.()_

-ty
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Select the Francis Hary Compton Crick’s Ph. D: thesis title-

(A) Semiconservative DNA replication model  (B) X-ray diffraction: polypeptides and proteins

(©)  Xeray diffraction: nucleic acids
(E)  Question not attempted

mﬁv%ﬁmﬁm%ﬁ’r@ asﬁa%wﬁﬁmmwﬁﬁm

@ : 30

(A) ﬁ”ﬁmﬁﬁaﬁt‘m‘tﬁﬂhnm . (B) XXforwm: wﬁm@sﬁm
©) XXl e ufire (D) mﬁé‘@mﬁﬁw
(B) sgaf@ws oy J
\% The remains of GanéShwar civilization are found at which place in Rajasthan?
(A) Hanurnangarh"'é (B) Bhilwara Ly
(C)  Neem ka Thana : (D) Udaipur i
(E)  Question not attempted
OV FSFRT 3 ST TR 3 Py T 9 ) 1 8
(A) TR g B) warer g
NC) Awmwmum - D) TR @
() uRawy @ o
‘TE’S Who was the foundeli oif the Chauhan Dynasty of Ranthambhore? i
’ Choose the most app[épriate option from below L‘;)‘i
(A) Veer Narayan i} (B) Govind Raj -
(C) Hammir i (D) Prithviraj III
(E) Question not attempted
TR 3 =ET S % FETTs B 9 <
ﬁmﬁ%mmﬁmaﬁ . gg
A) AT o (B) MfdzTS o
(C) == . N (D) RIS - 10 =
(B) gaRaws W ' ™
44\ Match List-I with Llsﬁﬂ ﬂ
List-I (Folk art) List-IT (Material)
a Kavad I Paper
b.  Phad II.  Colour =t
c.  Paane o ' | I Cloth g
d.  Mandana: IV.  Wood O
-1 g=ft-11 & gafera Hfve '
a1 @a:aran o @ty
b B¢ il
c. UM . s <j
d. W sp V. aer m
Choose the most app%bnate answer from the options given below: e
e R e forsredl 33 mrariferas suge secgfc: g
(A) a-TILb- IV@IId I NB) a-IV,b-MLc-1,d- gy
© a-1,b- Ic'IVd i (D) a-Lb-I,c-II,d-1¢)
(E) Question nota _émpted/iﬁiﬂﬁ?fﬁﬂ ™

(D) Transformation in Streptococcus pneumonia

[P.T.O.
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N{v Which ministry launcheg the ‘Capacity Building on Design and Entrepreneurship (CBDE)’ program?
(A)  Ministry of Home Affairs (B) Ministry of Finance
(C©) Ministry of Education (D) Ministry of Defence
(E) Question not attempted '

o e 3 « mmwﬁmmmﬁmm&m » s SO (i) fopam?

(&) TR @B) foam v
©) T e (D) TTHAE
(B) afa s |
148 What is the theme of World TB Day-2024?
(A) “The Clock is Ticking’ " (B) “Yes! We can end TB’
(C) ‘Invest to End T.B save lives.’ ‘ ~ (D) ‘Wanted: Leaders for a TB-free world’

(E) Question not attempted
%’aé’ra‘r(aﬁ&aa)ﬁauzomwm(rg‘fﬁmw%?

(A)  ==r=e @ R (3wt 3 A

B) ﬁ,mam@mwmm@ma‘rh@aﬁ)

(©) FfrEew w0 F e Pdw X, shaw st (3R T U Aeft A wirgem)
@) e A of g v o (v, e e el
() Srgafaws

IMK If PQ || RS, then find the value of a + b + ¢
AR PQ || RS, @ a+ b + c FTHF FAFX

)
i S
L

’>6§) ,
R e- 4\1’ /s
\d' {2(}9\;:

(A) 280° . (B) 180°
© 270° (D) 360°

(E)  Question not attempted / SITART T4

150  If m and n are the roots of the equation x> + px + g =0, then what is m? + 52 equal to?

afe m 3ﬂ1’n;12+px+q=08ﬁw%1€§ﬁm2,tﬁzmmg‘?

A) p*-q B) p+2g
Tw®) Pty @) p*-24
(E)  Question not attempted / AR 54 !
RIS] (@) 5 31 | [ P.T.O.

™ h2e 1M p1tq
WA





